
 07A – Linear Equations : Practice Problems  
 Solve for x: Answers: 
1 2𝑥 − 5 = −3(5 − 𝑥)  

 
𝑥 = 10 

2 3𝑥 − (5 − 𝑥) = 2(𝑥 + 3) + 10  
𝑥 =

21

2
 

3 5 − 3(2 − 𝑥) = −4(2𝑥 − 1)  
 

𝑥 =
5

11
 

4 3𝑥

5
+

2

3
=

4𝑥

15
− 2  

 

𝑥 = −8 

5 2𝑥−1

3
+ 4 =

𝑥+5

2
  

 

𝑥 = −7 

6 5𝑥 − 𝑦𝑧 = 5𝑦  
 

𝑥 =
5𝑦 + 𝑦𝑧

5
 

7 3𝑦 − 2(2𝑦 − 𝑥) = 5𝑥 + 2  
𝑥 =

−𝑦 − 2

3
 

8 𝑎𝑥 − 𝑏𝑥 = 𝑐  𝑥 =
𝑐

𝑎 − 𝑏
 

9 2

𝑥+3
+

4

𝑥2+8𝑥+15
=

3

𝑥+5
  

 

𝑥 = 5 

10 4

𝑥−2
+

3

𝑥+2
=

5𝑥

𝑥2−4
  

 

𝑥 = −1  

 


